HE AREFHE AN

20164

RIEEE: NO
2R 5H 68 78 8H 98 108 1A 128 18 28 3H Rit |
Wiz + B ET AhBIE B 27 30 30 27 27 30 29 30 31 29 28 31 349|
2 B RS 680 720 716 681 696 716 715 715 740 714 663 740 8496
F 915 (ppm) 0.001 0.001 0.001 0.001 0.000 0.001 0.001 0.004 0.008 0.003 0.002 0.002 0.002
1B 1 E D &= 5 (B (ppm) 0.014 0.006 0.004 0.012 0.007 0.010 0.023 0.051 0.109 0.068 0.038 0.029 0.109
B F#1E D 5 = {E (ppm) 0.003 0.003 0.002 0.004 0.002 0.004 0.006 0.027 0.038 0.017 0.011 0.006 0.038]
LAz 8k B AREIEBAR 28 31 30 29 8 28 30 31 31 28 31 305
8 7E B Rl 689 739 715 715 206 671 715 739 739 667 740 7335
SE5{E(ppm) 0.001 0.001 0.001 0.001 0.001 0.002 0.005 0.007 0.005 0.003 0.002 0.003
1B ] fIE D 2= = {B (ppm) 0.042 0.009 0.009 0.014 0.009 0.020 0.046 0.079 0.081 0.043 0.033 0.081
B 1B D 5 5 fE(ppm) 0.007 0.002 0.002 0.004 0.003 0.006 0.018 0.030 0.017 0.009 0.006 0.030)
XEZHH AhBIEBR 28 31 30 29 31 30 29 30 31 29 28 31 357
2 B RS 693 739 716 716 739 716 716 715 739 712 667 739 8607
F 915 (ppm) 0.001 0.000 0.000 0.001 0.001 0.001 0.002 0.004 0.007 0.004 0.002 0.001 0.002
1B 1 iE D &= 5 (B (ppm) 0.017 0.011 0.003 0.030 0.007 0.013 0.019 0.041 0.062 0.047 0.034 0.020 0.062
B F#1E D 5 = {E (ppm) 0.004 0.002 0.001 0.002 0.002 0.004 0.005 0.020 0.029 0.015 0.004 0.003 0.029)
LA AREIEBAR 28 31 30 29 31 30 29 30 31 30 27 31 357
I E B RS 694 739 716 716 739 716 715 715 740 726 649 739 8604
S5 {E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.002 0.001 0.001 0.001 0.001
1B 1 fIE D 2= = {B (ppm) 0.004 0.003 0.002 0.004 0.004 0.007 0.010 0.026 0.035 0.031 0.021 0.028 0.035]
B FHED RS E(ppm) 0.001 0.000 0.000 0.001 0.001 0.001 0.002 0.005 0.011 0.005 0.003 0.003 0.011
IR AhBIEBR 28 31 30 29 31 30 29 30 31 28 28 31 356
72 B RS 690 739 716 714 739 716 715 711 739 708 667 740 8594
F 95 (ppm) 0.000 0.000 0.000 0.001 0.001 0.001 0.002 0.002 0.003 0.002 0.001 0.001 0.001
1B 1 iE D &= = {E (ppm) 0.010 0.004 0.005 0.010 0.016 0.037 0.034 0.019 0.056 0.043 0.016 0.011 0.056
B F #1E D 5 = {E (ppm) 0.002 0.001 0.001 0.003 0.002 0.004 0.004 0.007 0.009 0.010 0.003 0.002 0.010]
HMILERER AREIEBA 27 24 28 31 29 30 29 30 31 29 28 31 347
I E B RS 681 657 691 739 719 716 714 715 740 714 667 739 8492
S5 {E(ppm) 0.001 0.001 0.000 0.000 0.000 0.000 0.001 0.002 0.003 0.003 0.002 0.001 0.001
1B 1 fIE D 2= = {B (ppm) 0.013 0.004 0.002 0.003 0.010 0.006 0.012 0.026 0.042 0.060 0.027 0.016 0.060)
B FHED RS E(ppm) 0.003 0.001 0.001 0.001 0.002 0.002 0.004 0.012 0.013 0.014 0.006 0.004 0.014
EET ABIE B 28 31 30 28 31 30 29 30 31 30 27 31 356
72 B RS 690 739 716 683 739 715 715 715 740 724 653 737 8566
F 95 (ppm) 0.000 0.000 0.000 0.001 0.001 0.001 0.001 0.002 0.003 0.003 0.002 0.001 0.001
1B 1 E D &= 5 (B (ppm) 0.006 0.006 0.002 0.006 0.005 0.007 0.012 0.024 0.044 0.065 0.025 0.017 0.065
B F #1E D 5 = {E (ppm) 0.001 0.001 0.001 0.002 0.002 0.002 0.004 0.010 0.014 0.016 0.005 0.003 0.016]
RHSEH AMRTEEE 28 31 30 29 31 30 29 30 31 30 27 31 357
I E B RS 689 738 713 714 739 715 715 715 739 725 655 739 8596
S5 {E(ppm) 0.001 0.000 0.000 0.000 0.001 0.001 0.001 0.002 0.002 0.001 0.001 0.001 0.001
1B 1 fIE D 2= = {B (ppm) 0.005 0.003 0.009 0.006 0.010 0.006 0.008 0.030 0.024 0.025 0.011 0.007 0.030)
B FHIED RS E(ppm) 0.001 0.001 0.002 0.002 0.002 0.002 0.002 0.006 0.004 0.004 0.002 0.002 0.006
EHER AhBIEBR 28 31 30 29 31 30 29 30 31 22 291
72 B RS 691 738 715 712 739 714 710 715 743 543 7020
F 915 (ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.002 0.002 0.001
1B 1 iE D &= 5 (B (ppm) 0.001 0.002 0.003 0.008 0.003 0.005 0.004 0.013 0.025 0.044 0.044
B F #1E D 5 = {E (ppm) 0.000 0.000 0.000 0.001 0.001 0.000 0.001 0.002 0.004 0.007 0.007]
EHE R AREIEBA 28 31 30 29 31 30 29 30 18 0 28 31 315
I 2 B RS 693 738 713 716 739 715 712 714 442 13 666 739 7600
SE5{E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.001 0.000 0.001 0.000
1B ] fIE D 2= = {B (ppm) 0.004 0.016 0.003 0.024 0.008 0.024 0.006 0.007 0.020 0.002 0.005 0.020 0.024]
B 1B D 5 5 fE(ppm) 0.001 0.001 0.000 0.002 0.001 0.001 0.001 0.001 0.003 0.001 0.002 0.003]
HELER HxhEIE B 28 31 30 27 31 30 29 30 31 29 28 31 355]




I E B RS 695 738 712 682 736 714 714 714 739 719 666 736 8565

SE5{E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000]

1B 1 IE D 2= = {B (ppm) 0.004 0.001 0.001 0.003 0.003 0.004 0.002 0.004 0.003 0.003 0.001 0.001 0.004]

B FHED RS E(ppm) 0.000 0.000 0.000 0.000 0.001 0.001 0.000 0.000 0.001 0.001 0.000 0.000 0.001

373 AhBIE B 28 31 30 29 31 30 20 11 29 28 31 298
2 B RS 695 737 710 715 736 714 476 270 713 663 738 7167

F 915 (ppm) 0.000 0.000 0.000 0.001 0.001 0.000 0.001 0.001 0.001 0.000 0.000 0.000]

1B 1 E D &= 5 (B (ppm) 0.005 0.002 0.004 0.003 0.007 0.003 0.020 0.038 0.029 0.015 0.015 0.038]

B F #1E D 5 = {E (ppm) 0.000 0.000 0.001 0.001 0.001 0.001 0.001 0.004 0.004 0.002 0.002 0.004

=B AREEBA 28 31 30 29 31 30 29 30 31 29 28 31 357
I E B RS 697 739 713 712 739 714 712 714 737 714 665 739 8595

S5 {E(ppm) 0.001 0.000 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001

1B ] fIE D 2= = {B (ppm) 0.004 0.002 0.003 0.004 0.004 0.008 0.007 0.017 0.017 0.026 0.009 0.006 0.026]

B FHED RS E(ppm) 0.001 0.001 0.001 0.002 0.001 0.002 0.001 0.003 0.004 0.006 0.002 0.001 0.006]

|EmEaRET AhiBIE B 28 31 30 29 31 30 29 30 31 29 28 31 357
72 B RS 694 737 713 714 739 715 713 713 738 714 665 739 8594

F 915 (ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.002 0.001 0.000 0.000 0.000]

1B 1 E D &= 5 (B (ppm) 0.010 0.004 0.002 0.011 0.004 0.008 0.010 0.032 0.047 0.030 0.017 0.012 0.047]

B F #1E D 5 = fE (ppm) 0.001 0.001 0.000 0.001 0.001 0.001 0.002 0.007 0.017 0.004 0.003 0.001 0.017]

FETH AREIEBA 28 31 30 29 31 30 29 30 31 29 28 31 357
I E B RS 691 736 714 715 739 714 712 713 737 717 666 738 8592

SE5{E(ppm) 0.000 0.001 0.000 0.000 0.001 0.000 0.001 0.001 0.002 0.003 0.001 0.001 0.001

1B ] IE D 2= = {B (ppm) 0.006 0.003 0.004 0.004 0.005 0.007 0.013 0.022 0.034 0.066 0.038 0.015 0.066)

B FHED RS E(ppm) 0.001 0.001 0.001 0.001 0.001 0.002 0.003 0.007 0.006 0.021 0.005 0.002 0.021

W FWR AhBIEB 26 31 23 21 30 29 30 31 29 28 31 309
72 B RS 662 739 557 507 716 708 715 739 713 666 740 7462

F 915 (ppm) 0.008 0.005 0.005 0.006 0.007 0.010 0.018 0.024 0.015 0.012 0.011 0.011

1B 1 E D &= = (B (ppm) 0.065 0.041 0.028 0.031 0.068 0.066 0.106 0.172 0.152 0.100 0.100 0.172)

B #1E D 5 5 {E (ppm) 0.028 0.010 0.009 0.009 0.019 0.023 0.055 0.064 0.043 0.044 0.027 0.064




